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Program.cs
class Program

void Main(string[] args)

IFoo foo = null;
if (args.Length > 0)
{

if (args[0] =="1")

foo = new FooFeature();
else if (args[0] =="2")

foo = new FooFeatureFast();

string text = foo.Run();
Console.WriteLine(text);

}
else
Console.WriteLine("The arguments is null value.");
}
}
}
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C:\> ImageDetector exe 1
Hi FooFeature Class!

B M A R R (2)
C:\> ImageDetector.exe 2
Hi FooFeatureFast Class!
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Employee
< <abstract>>

+ id_no : string
+ name : string
+ salary :int

+ GetIDNo() : string

+ SetIDNo(id : string) : bool

+ GetSalary() : int

+ SetSalary(salary : int) : bool
+ TotalSalary() : int

- CheckIDNof(id : string) : bool

I

Staff Contractor

"+ duties_allowance : int + SetSalary(salary : int) : bool
+ TotalSalary( : int

I+ GetDutiesAllowance() : int

+ SetDutiesAllowance(value : int) : void
+ SetSalary(salary : int) : bool

+ TotalSalary() : int
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static void Main(string([] args)

{
Sum(9);
}
public static int Sum(int num)
{
if (hum<1)
{
return O;
}
else
{

int result = num + Sum(num - 2);
Console.WriteLine(String.Format("Num: {0}",result));
return result;
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Shape

public int x
publicinty
protected int width

Main(string[] args) : void protected int height
private bool isDrawlLine

Program

public Draw() : void

T

Rectangle

private Color fillColor
private Color lineColor




